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? % of 150 = 40

A & ® =
(c) 262 @) 33

The market value of a share of ¥ 100 is
T 120. A person invests ¥ 24,000 in
this share. If the dividend declared is
10%, what is his earnings in that year ?
(A) ¥ 2,200 (B) ¥ 2,050
(C) ¥ 2,000 (D) % 1,200

In 1857, which of the following Nawab
of Farukh Nagar took on British ?

(A) Muhammad Tughlaq

(B) Balban

(C) Gyasuddin

(D) Dalel Khan

Raja Ravi Varma was a

(A) Painter (B) Musician
(C) Dancer (D) None of these
If log 8 = 0.9031, log 8000 = ?

(A) T1.9031 (B) 3.9031

(C) 1.9031 (D) 0.9031

A basket contains different coloured
flowers. Colour of all but 6 is rose, colour
of all but 6 is red, colour of all but 6 is
white. What is the total number of
flowers in the basket ?

(A) 6 (B) 12

(C) 18 (D) 9

Who is the first state poet of Haryana ?
(A) Udaybhanu Hans

(B) Tulsidas Sharma

(C) Leeladhar

(D) Balmukund Gupt
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150 &1 7% = 40

A 5 ®

() 263 @) 33

3 100 % IR H1 919 Ged % 120 R |

T ATeH ¥ W T T 24,000 Fraw
FAT 2 | AR 10% 1 AT fva
ST 2, 1 39 "ol 39T FATE Fha) By ?

(A) % 2,200 (B) ¥ 2,050

(C) T 2,000 (D) % 1,200
1857 W ®&EA & fhE Far@ 3 s @
THRRL AL 7

(A) HIEwE FeTh
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EIRCECE |

(A) TE=r (B) @it
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I1< log 8 = 0.9031 2, @ log 8000 = ?
(A) 1.9031 (B) 3.9031

(C) 1.9031 (D) 0.9031
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1.

The length and breadth of a rectangle
are 8 cm and 6 cm respectively. Find
the length of its diagonal.

(A) 12cm (B) 11cm

(C) 10cm (D) 9cm

D is the daughter of A. B is the wife of
the father of the sister of D. How is A
related to B ?
(A) Son

(C) Husband
Expand UPSC.
(A) United Public Service Community
(B) Union Public Service Commission
(C) United Public Service Centre

(D) Union Public Security Commission

(B) Grandson
(D) Son-in-law

What is the name of the garden situated
in Pinjore ?

(A) Yadavendra Garden

(B) Karna Lake Garden

(C) Rose Garden

(D) Sultanpur

When a book is sold for Rs. 60, there is
a profit of Rs. 10. What is the percentage

of profit ?
(A) 20% (B) 16.25%
(C) 12% (D) 15%

C is taller than A but shorterthan B. E is
taller than B but shorter than D. Who is
the tallest ?

(A) A (B) D

(C) B (D) C

Ashwaghosha who lived in the court of
king_____ wrote Buddha Charita.
(A) Kaniska (B) Babur

(C) Vikramaditya (D) Ashoka

In Kurukshetra district, where is the
sugar mill located ?
(A) Shahabad

(C) Pehwa

(B) Ladwa
(D) Thanesar

. T A ! TS N Sers e 8 I,

3’ 6 .. B 3u* ot 1 ot v
Hife |

(A) 1237, (B) 1137,

(C) 10 4., (D) 9Tt

D¥E ASIa 2 | BIE D % o9& & far ol
THRIAF BAFTA@IR ?

(A) =1 (B) drar

(C) wfa (D) ~mrg

. ZhwE . (UPSC) =1 fama w=v

(A) FrReS fecrs wida wegfdh
(B) gfi== ufseres afdta wftem
(C) FATEeE ufsetsr widw Fex

(D) i wfecter Tegid) witem

. R s wmiemame ?
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(B) vl & e
(C) TSI TEA

(D) HedmgX
STel U fohattel %, 60 T St SITd1 8, 99 %. 10

| 1 AT AT 2 | AT o1 e o E 7

(A) 20%
C) 12%

CIRAISMEARHBATRIRIETEBY

(B) 16.25%
(D) 15%

[T EAES S S P W
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80_7
? 20
(A) 50 (B) 40
(C) 30 (D) 20

Raju walks 25 m straight towards west,
then turns right and walks 20 m straight,
then tumns right and walks 50 m straight,
then turns right and walks straight 20 m
and again turns right and walks straight
for 20 m. How far is he from his starting
point ?
(A) 30m
(C) 5m

(B) 10m
(D) 15m

The capital city of Chalukya was
(A) Srirangapatna (B) Badami
(C) Madhurai (D) Kanchipuram

In which diistrict is the Gharounda Nagar
situated 7
(A) Karnal (B) Kaithal
(C) Panipat (D) Jind
Security Council of UNO consists of
permanent members.

(B) 4

(D) 6

(A) 3
(C) 5

Who was the first non-congress Chief
Minister of Haryana ?

(A) Chaudhary Bansilal

(B) Rao Virendra Singh

(C) Chaudhary Devilal

(D) Pandit Bhagwat Dayal Sharma

Who is regarded as the pioneer of white
revolution in India ?

(A) Dhiru Bhai Ambani

(B) Varghese Kurian

(C) Swaminathan

(D) S. K. Birla
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80_ 2
7 20
(A) 50 (B) 40
(C) 30 (D) 20

TS| wfzem 1 37 e 25 . =reran 2 i
I8 AfeAT TR geart wiY 20 WY, =erar &

T et 3R T 50 . oY) =eran
T o aTfeAt T o@ w20 . DY Fer

? 3R R 3l ue o qrft @9 o = 20
. =T 7 | e fg @ o aw Reah
ghwe?

(A) 30 (B) 10 .

(C) 5. (D) 15 .
EISGREIRIELIE IR |

(A) sfmgzm (B) =emHt

(C) wgui (D) =g
el TR R e o fera § 2

(A) =TT (B) *uaA

(C) urfaa (D) Sfig

.. 31, % geaq ufiwg | Tt
T B 2

(A) 3 (B) 4

€) 5 (D) 6

FiET % Yo TR HHH get i 9 7
(A) <. ST

(B) Ta = e

(C) =i, qdiedTe

(D) U. 9TEa AT It

a1 A Hifd & foTe Tha swae o
ST ?

(A) fors g sfarh

(B) afitw Fham

(C) @iy

(D) wa. %, faga
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__Isregarded as the architect
of the Indian Constitution.
(A) Jawaharlal Nehru
(B) Bal Gangadhar Tilak
(C) B.R. Ambedkar
(D) C. Rajagopalachari

Which canal of Haryana is originates from
place called Tajewala ?

(A) Gurgaon canal

(B) Bhakhra canal

(C) Western Yamuna canal

(D) Bhiwani canal

FAVOUR : GBWPVS :: INFORM : ?
(A) JKLMNO (B) JOGPSN

(C) JGOPNS (D) JPOGSN
How many shares of Rs. 100 sold at a
discount of 15% can be purchased by
investing Rs. 7,225 ?

(A) 75 (B) 85

(C) 95 (Dy 115

Find the missing item in the following
series from the alternatives provided.
4,7,11,18,29,47,7,123, 199

(A) 87 (B) 71

(C) 76 (D) 82

Metro first reached in which city of
Haryana ?

(A) Gurgaon (B) Sonipat

(C) Faridabad (D) Rohtak

In a certain code language, ‘1, 2, 3’
means ‘bright little boy’, ‘1, 4, 5’ means
‘tall big boy’ and ‘6, 3, 77 means
‘beautiful little flower’. Which numerical
in that language means ‘bright’ ?

(A) 7 (B) 2

(C) 6 (D) 5
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1 WA & WITUH T TRGHR
T ST & |
(A) SETRATA TEE
(B) =& TR faeeh
(C) . I, AT
(D) . TSI

TISIETET 10k T & g 3 S & 72T
iR ?

(A) g@mw

(B) i@t 9

(C) ufverdt T AR

(D) Toramt 9

FAVOUR : GBWPVS : : INFORM : ?

(A) JKLMNO (B) JOGPSN
(C) JGOPNS (D) JPOGSN

15% B W o< 9 a1 5. 100 % o
IR E. 7,225 v s e st e # 7
(A) 75 (B) 85

(C) 95 (D) 115

= s@en #, foa 1 faepedi & ¥ w9
AT 9aT Hifere |

4,7,11,18, 29,47, ?, 123, 199

(A) 87 (B) 71

(C) 76 (D) 82

BT o for T H A2 T vEet g ?
(A) T (B) wrfiaa

(C) wlEmETe (D) Uzas

Torelt fafeerd 52 wwi 1, 2, 37 1 Haew
? ‘sge foea @@, ‘1, 4, 5" 1 udes ®
i femm w3 ‘6, 3, 7 H Had ©
SgRF freat wIten | 3% Wi H ST &
fausn e e 7
(A) 7

C) 6

(B) 2
(D) 5
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Kurukshetra’s Sthaneshwar temple was
rebuilt by whom ?

(A) By Raja Harshawardhan

(B) By Maratha Sadashiv Rao

(C) By Prabhakar Wardhan

(D) By Chandragupt Vikramaditya

Find the HCF of 68 and 4

7’3 21"

12 24
(A) 25 B) %

2 3
© 21 D) 3
PRINCE : ECNIRP :: ACTIVE : ?
(A) EVITAC (B) EVITCA
(C) VEITCA (D) EVTICA
How many %’s are there in 37% ?
(A) 300 (B) 400
(C) 500 (D) None of these

Kothli gift is given on which of the
following occasion ?

(A) Diwali

(B) Holi

(Cy Makar Sankranti

(D) Teej

The ratio of the surface areas of 2 spheres
is 4 : 9. Find the ratio of their diameters.

(A) 5:6 (B) 2:3
C) 1:3 (D) 1:2
18 22 17

5 15 12

13 7 ?

(A) 5 (B) 6
C) 7 (D) 8
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FRAI o TR Higt 1 Gt Rtferfaa
T 4 foraek g e @ ?

(A) TST g¥aEq g

(B) RreT WeTiE Ta W

(C) W I g

%,% 3 547 T TS H.TF. g7 hIfY |
12 24
(A) 23 (B) =
2 3
©) 25 D) g
PRINCE : ECNIRP : : ACTIVE ; ?
(A) EVITAC (B) EVITCA
(C) VEITCA (D) EVTICA
875 o foraa gt?
(A) 300 (B) 400
(C) 500 (D) =8 & 1S T
et BN form arereR ot oo smar @ 7
(A) drareft
(B) @reft
(C) mat wepift
(D) W=
1 T o TS-EF% T AT 4 : 9 B |
ITeh ST ohT ATITE Il SHIfSTT |
(A) 5:6 (B) 2:3
() 1:3 (D) 1:2
18 22 17
5 15 12
13 7 ?
(A) 5 (B) 6
C) 7 (D) 8
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Sihi village is considered as the birth
place of which poet saint ?

(A) Saint Ravidas (B) Saint Haridas
(C) Saint Surdas (D) Saint Tulsidas

Find the median of 7, 8, 4, 3 and 10.
(A) 4 (B) 3
(C) 35 (D) 7

In Haryana, King Janmejay is associated
with which of the following city ?

(A) Jajjar (B) Safeedo

(C) Jind (D) Jagadhari
The base of a triangle is 3 cm more than
its height. If the area of this triangle is 20
sg.cm., find its base.
(A) 5cm

(C) 10cm

(B) 8cm
(D) 6cm

Vikas starts walking straight towards
East. After walking 75 metres he turns
to the left and walks 25 metres straight.
Again he turns to the left, walks a distance
of 40 metres straight, again he turns to
the left and walks a distance of 25
metres. How far is he from the starting
point ?

(A) 140m
(C) 115m

(B) 50 m
(D) 35m

The First Battle of Panipat was fought
between the forces of

(A) Akbar and Hemu

(B) Abdali and the Marathas

(C) Humayun and Sher Shah Suri
(D) Babur and Ibrahim Lodi

Maharaja Agrasen is associated with
which place ?
(A) Rohtak

(C) Agroha

(B) Sirsa
(D) Pehwa
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el il ot fopm wwa-fa 7 Sl
ST g ?

(A) &= Tormm (B) @< giE™
(C) &= Ye™ (D) ¥ goHieE
7, 8, 4, 3 3R 10 T WIfedhT qar Hifu |
(A) 4 (B) 3

(C) 35 D) 7

FIRATOT T Tl SHAST oh Ty T TR A ?
(A) TR (B) "d=

(C) Sfie (D) SRt

U Fehivr &1 91 38k 9 ¥ 3 9.1

A 7 | 3fe 36 Hienio w7 dwa
20 &t @1, ®, A 35eR1 ot fore B 7

(A) 531 (B) 8 u.m.
(C) 10w, (D) 6.
Torehra =fie & fawm & o7 Srem e s

g1 75 et I % o1e 98 wrff 3R geaw
g 25 Hiet = @ | R a7 et ot gea
H 40 et = 2 | R o St TR g
25 Hiet T ¢ | 31 9% ARE fag @

frafi gim e ?

(A) 140 #. (B) 504,

(C) 115t (D) 35 .
U T TEell TS §9h BiSll o o g3
(A) 3TehaTT 3T =Y

(B) STt 3T 1R

(C) TAET R I =E gh

(D) TR 3R ganfew W

TERISTT ST 1 Ty forg TRy @ 7
(A) Tredh (B) forwan

(C) smien (D) e
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45.
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X~ fing
288 x5’ MdX
(A) 12 (B) 18
(C) 15 (D) 13
If ‘X’ means ‘+’, “ means ‘+’ and ‘+
means ‘x;5+4-18x3="7
(A) —34 (B) 6
(C) 14 (D) 26

Which of the following battle was fought
between Marathas and Ahmed Shah
Abdali in Haryana ?

(A) Second battle of Panipat

(B) Third battle of Panipat

(C) First battle of Panipat

(D) None of the above

Mudumalai Wildlife Sanctuary is located
in the state of

(A) Kerala

(B) Karnataka

(C) Tamil Nadu

(D) Andhra Pradesh

National Milk Production Research
Institute is located in which of the
following city ?

(A) Panipat (B) Yamunanagar
(C) Karnal (D) Faridabad

Face value of each share is ¥ 25. It is
sold at a premium of ¥ 3. How many of
these shares can be purchased by
investing ¥ 5,600 ?

(A) 224 (B) 1533.3

(C) 240 (D) 200

Ajit was born 5 years before Rajesh,
Rajesh is 3 years younger to Aneesh.
If Ajit is now 17 years old, how old is
Aneesh ?
(A) 12 years
(C) 19years

(B) 15 years
(D) 8years

44,
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X 6
qﬁ§§§:x1_5 %‘,?ﬁxwu@%
(A) 12 (B) 18
(C) 15 (D) 13

I ‘%’ A ‘= R, '~ AT 4 3t
“+ RIHIAS ‘X', A5+4—18 x 3="7?
(A) -34 (B) 6

(C) 14 (D) 26

TS YT AEHEYE Iealell & st aremn
o T T8 LT o ?

(A) TTaa 1 gET Ig

(B) urfiua =1 #aw g5

(C) 9rIud = Ugetl I&

(D) 3w & & =1 T

9 TS H WgAeTTs STt T o e @
(A) e

(B) Al

(C) ety

(D) 3Ty

T g9 16 eI G fopg v
g ?

(A) drITd (B) IHATTR

(C) «ETet (D) ®leETe

TR I H @ qed T 25 B 1 3H T 3
o i @ S ST 21 ¥ 5,600 % FEw

Qg frae e i s g ® 7
(A) 224 (B) 1533.3
(C) 240 (D) 200

AT T S TITT 3 S 8 U 9T e
BT, A T U9 o T Bl B | Al
AT &1 IduT IW 17 1A 7, 1 AT
FIWMFE ?
(A) 12 9@
(C) 19wt

(B) 15 @&
(D) 8@
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Haryana’s first university was established
in which city ?

(A) Kurukshetra

(B) Karnal

(C) Rohtak

(D) Murthal

In A ABC, PQ is drawn parallel to BC.

AP=5PB=3 AQ=3x-1,QC=x+1,
find x.
(A) 4
€) 2

(B) 3
(D) 1

The world famous Ajanta caves are
situated in the State of

(A) Madhya Pradesh

(B) Maharashtra

(C) Karanataka

(D) Orissa

In which city Kanod's fort is situated ?
(A) Narnaul (B) Mahendragarh
(C) Thanesar (D) Hansi

‘Dead Sea’ is located in
(A) Philippines  (B) Israel
(C) Lebanon (D) Holland

Who was the first Chief Minister of
Haryana ?

(A) Rao Virendra Singh

(B) Chaudhary Devilal

(C) Chaudhary Bhajanlal

(D) Bhagwat Dayal Sharma

Which is the capital of Odisha ?
(A) Bhubaneswar (B) Puri
(C) Ranchi (D) Vijayawada
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TR 4 yuw ferafrmer fore e wenfig
BT ?
(A) Toa=
(B) &t
(C) U=a=
(D) W
ABC B@ivT §, PQ % BC & T f&=
EIcIE
AP=5, PB=3, AQ=3x-1,QC=x+1,

A X 1 I T IR |

(A) 4 (B) 3

(C) 2 (D) 1

38 U9 H foe vt arsian TR fora #
(A) Heayew

(B) weEmTy

(C) Fiesh

(D) nfesm

FHIE F1 fobent fopm TR A e & 7
(A) T (B) we=g
(C) ur® (D) i
T PR et feva R

(A) Tfeafes (B) Tsitw
(C) <= (D) wieie
BRI % Yo geImAt i 5 ?
(A) TE fa= fim

(B) =h. Jetetet

(C) <. WA

(D) wTEa TATA Y™t

Nt At Tera S R ?

(A) HaATR (B) I
(C) Tt () BESREIS
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61.
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65.

First Governor General of India, after
independence was

(A) Jawaharlal Nehru

(B) Rajendra Prasad

(C) Climent Atlee

(D) Lord Mountbatten

Sultanpur Bird Sanctuary is located in
which district of Haryana ?

(A) Gurgaon (B) Rohtak

(C) Panchkula (D) Faridabad
Natyashastra, in which all performing
arts are well structured is a work of

(A) Bhavabhooti (B) Bhasa

(C) Bharatamuni (D) Kalidasa

Which disease has been eliminated
from the world by vaccination ?

(A) Typhoid (B) Malaria
(C) Small pox (D) TB

Which of the following sage’s monastery
is situated in Asthal Bohar ?

(A) Kapil (B) Chyawan

(C) Ved Vyas (D) Mastnath
December 22, the day on which genius
Srinivas Ramanujan was born would be
celebrated as

(A) National Members Day

(B) National Mathematics Day

(C) Numerical Mathematics Day

(D) National Science Day

Acid found in lemon is

(A) Citric acid (B) Acetic acid
(C) Tartaric acid (D) Nitric acid

Most of the part of Haryana is
(A) Desert (B) Plain
(C) Hilly (D) Fenland

-10-

58.

59.

60.

61.

62.

63.

64.

65.

TN o G WRE % e oL SRS o
(A) STETEATS &%

(B) US3 yHIQ

(C) iz weet

(D) =S HEeden

FeHYL 9t foer ghamn & fra ey 1 ?
(A) TETE (B) {zas

(C) rggem (D) e
‘Areeeme’ e afh st westt &
=3 We | gif=a fora R, sqehl w1 2

(A) w&Eyfd (B) W

(C) wagH (D) wfeter®
TR o FIU ST T fova @ & U
e mng ?

(A) TTHEE (B) wHaifwm

(C) === (D) A

YA T H frg mRA w1 AR ?

(A) Ffa (B) =ueH

(C) a9 =™ (D) WY

femrer 22, fom e wfasmaneft shframa
THTSH &1 S0 3T o, 9% 7 30 i
THTET ST |

(A) T weE T

(B) e wifera feww

(C) wife i farm

(D) T fogm feem

Al # ure STHeTar ufire @

(A) fafgwm tfie (B) wafw ufis
(C) weifs wfie (D) few ufas
g =1 fereRier wm R

(A) e (B) Trert

(C) weret (D) &cTed
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Myanmar is the new name of

(A) Mali (B) Bali
(C) Burma (D) Bhutan
Which is not a Rabi crop ?

(A) Wheat (B) Maize
(C) Gram (D) Mustard

‘Hari Bhoomi” newspaper is published
in which city of Haryana ? '

(A) Rohtak (B) Hissar

(C) Panipat (D) Fatehabad

Interational Worker’s Day is celebrated on
(A) April 14 (B) May 1
(C) August 1 (D) May 10

Enzymes are
(A) Carbohydrates (B) Fats
(C) Proteins (D) Vitamins

Chudani Dham is associated with
which of the following great soul ?
(A) Swami Nityananda

(B) Saint Haridas

(C) Saint Ravidas

(D) Saint Gareebdas

State of Goa has districts.
(A) 2 (B) 3
(C) 4 (D) 5

Which Vitamin is synthesized when
skin is exposed to sunlight ?

(A) Vit. A (B) Vit. Bg

(C) Vit.C (D) Vit.D

Which of the following national route
is not passes through Haryana ?

(A) NH5

(B) NH 2

(C) NH1

(D) NH 10
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AR 9T 9971 9 ®

(A) wh (B) et
(C) wmi (D) g™
T A A A R ?
(A) TE (B) W
(C) = (D) wwE

BN § TRt gueER v e @
e & 7

(A) T (B) feam

(C) urftua (D) ®d=TeTe
R Wy fead A S 2
(A) 30 14 (B) ws 1

(C) 31T 1 (D) w5 10
USTEY B

(A) #rETETESe (B) =

(C) wie= (D) ffim
QM 9 %1 greey fohy TeTgEY @ ¥ 7
(A) =Tt =

(B) wa sfE™

(C) da o™

(D) & =™

e TS H ISEEA

A) 2 (B) 3

(C) 4 (D) 5

wHE ffi gsafid giar @ 59 gar @
R G HT AT g5t 2 ?

(A) fofm A (B) ffim By
(C) fftm C (D) = D
HITHT TG TSHN BRETom § et 2
San ¢

(A) TA.T=. 5

(B) T. wH. 2

(C) wW.w=. 1

(D) w. 4. 10
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75.

76.

77.

78.

79.

80.

“Wings of fire” is a book authored by
(A) Atal Bihari Vajpayee

(B) Amit Chaudhary

(C) A.P.J. Abdul Kalam

(D) Girish Karnad

‘Hyper inflation’ in the economy will
lead to

(A) Easy loans

(B) Increased production of goods
(C) Fallin value of money

(D) Increased deposits in banks

In which district of Haryana has a
railway workshop ?

(A) Gurgaon

(B) Sirsa

(C) Faridabad

(D) Yamuna Nagar

Kathakali is a dance form of
(A) Karnataka
(B) Kerala

(C) Tamil Nadu
(D) Andhra Pradesh

‘Birju Maharaj’ is a famous exponent of
(A) Kathak dance

(B) Sitar

(C) Tabla

(D) Sarangi

Owner of the company that makes Reva
electric car is

(A) Tata Motors

(B) Suzuki

(C) Mahindra and Mahindra

(D) TVS
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75,

76.

77.

78.

79.

80.

(A) o7t forer) arergh
(B) afua =ierdy

(C) T. 9t S oreget FerrH
(D) e wte

refegaee § Afgsehifa (esuewm)
=T i e

(A) STEH w07

(B) g3l & 3ereq A g

(C) Tz st e ¥ finrare

(D) < § < ¥ g

g & e el T e@ s adama @ 7

3

(A) Tema
(B) feran

(C) wlersTe

(D) IFATTR

FHUhHA 38 TT HT I ThR B

(A) FATH

(B) &t

(C) dfteTrg

(D) TFywew

forte], TS * TF wg
yfeures F |

(A) &u® T

(B) faar

(C) deem

(D) wrft

1 FeifFeeh HR SAMHETE SR s A 2
(A) e Hied

(B) Hh!
(C) ufees de wieesn
(D) R.fawm.



English Language

Directions (Qs. 81-84) : Read the passage
given below and based on this, answer these
questions that follow :

It is no doubt true that we cannot go through
life without sorrow. There can be no sunshine
without shade. We must not complain that
roses have thorns, but rather be grateful that
thorns bear flowers. Our existence here is so
complex that we must expect much sorrow and
suffering. Many people distress and torment
themselves about mystery of existence. But
although a good man may at times be angry
with the world, it is certain that no man was
ever discontented who did his duty in it. The
world is like a looking glass. If you smile, it
smiles, if you frown, it frowns back. Always try
then to look at the bright side of things. Life has
been a comedy to those who think and a
tragedy to those who feel. itis indeed a tragedy
at times and comedy very often, but as a rule, it
is what we choose to make it.

81. We should expect much sorrow and
suffering in life, because
(A) Every rose has a thorn
(B) We think too much
(C) Our life is so complex
(D) Our own actions are responsible for
them

82. What do people distress and torment

about ?

(A) Life consists of both joys and
SOIrows

(B) The world is like a mirror

(C) Lifeis a tragedy at times

(D) Secrets of life unknown to man

83. What sort of man is never dissatisfied ?

(A) Who does his duty in the worid

(B) Who never gets angry with the
world

(C) Who only looks at the bright side of

things

Who has no complaint about roses

having thorns

(D)
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84. According to the writer, life is indeed
(A) A comedy
(B) Atragedy
(C) Amystery
(D) What we make of it

85. “The world is like a looking glass.”
The figure of speech found in this
above sentence is
(A) Metaphor (B) Simile
(C) Hyperbole (D) None of these

86. Choose the opposite of the word
‘denial’.

(A) Acceptance (B) Disliking
(C) Refusal (D) Available

Directions (Qs. 87-88) : In each of the
sentences given in these questions, some
sentences have errors and some have none.
Find out which part (A) or (B) or (C) of the
sentence has an error. If there is no error your
answer is (D).

87. Ishall go to Australia (A)/for higher
studies (B)/if you like it or not (C)/No
error (D).

88. They refused (A)/staying in that hotel

(B)/as it was too crowded (C)/ No error
(D).

Directions (Qs. 89-90) : Fill in the blanks with
the most appropriate alternative :

89. Since Robertis photographer,
he did not charge us any money for
taking our photograph.

(A) A professional
(B) An unknown
(C) An amateur
(D) A qualified

90. You are ready to go, ?
(A) Isn'tit (B) Aren't you
(C) Areyou (D) Isit
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2= e
91-92 : i< &3 ™ wsal 7 foreim ferfigu |
91. HEyan

(A) owam
(B) freaam
(C) forgaam
(D) 3w

92. =W
(A) 3=
(B) wamaw
(C) fmm
(D) MmN
93-94 : = T T w=al 1 aeww wee fifad
93. @@
(A) @Y
(B) @3
(C) ¥
(D) @

94, Hia
(A) Fr=
(B) f1z
(C) fim
(D) Ha
95. 7k W A Fed &
(A) =Td 3R e
(B) =@ Ta
(C) = u
(D) @ie Wy
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96. ‘Wiar YR FT WA G WY R
(A) forara |
(B) firaré
(C)
(D) #

97. ﬁaﬁawaﬁw%@[
(A) =T f
(B) =™

" (C) 3¥

(D) wma

98. ‘ﬁw’mﬁ@ﬁmm%@l
(A) T ’
(B) <t
(C) T
(D) 3o

99. ‘T FHH ST Ha B
(A) T |
(B) I
(C) s
(D) FEH

100. T T o iy = e B

(A) sreETUS
(B) wEmTH
(C) JgmU=
(D) =
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